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1) logyx=—5 @ log,x=4 3 Iog4(x—3):i (1) logyx+log,(x+3)=2 (2) log4(2x+3) +log,(4x+1)=2log,5 1) (logyx)®—log,x* +3=0 2) <logé_x)2—logi_x=0
s 2 (3) logy(x+2)x+5)=1 (4) log,(3—x)=log,(2x+18) 3 (logert?—dl 30 0o 21 6=0
(4) logs(3x—1)=25 (5) logsx =3 (6) logyx=4 ) Iog%(x+1):log%(xz—1) 6) logy(x—1)+logy(x+2) =1 @) (logsx)°"—4logsx +3= @) <0g1§x>— og; x—6=
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(7) logus(x—2)=05 ®) logsx=2 9) loggxr=-—1 (7) logy(x+3) =log,(x+5) ®) logy (x+7)=1+log, (6x—3) ©) (log,x)"—log,x"—3=0
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(13) logsx +logs(x—2)=1 (14) log,(2x—1)=2log,3 —log,(x+3) 2
15) logy(3—x) =log,(2x+18
B (1) r=— (2 xr=— (3 x=5 (&) x=3J3++ () x=27 (15) logy(3—2) =log,(2x-+18)
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